EARAROBEEIERT — 2 N— IBISH —F

2019568180 (K) 7EIEIR2H

WS % 3% B 3R EEE R
[AE4£] 1% :270,000 M ~ 23#%&:62,000"  33%&:32,000H” . 437&:24,000H . 57 :16,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
118l 9| 7>7m1YIL 43 gfﬁfﬂgﬁﬁ 1:(3_3).1 4-4-1-1 | 40.9| — 2 | 479 ;{#g% (&R
R:ELTFOVY BUACILFvF o (-3) Bl
3 | itEH 1:35.3 5-6-4-4 | 42.7| — 5 402 | =tERZ (£R)
olsls|r1avsED 3@ by o |HAEE
L:4pia B:a4Y/R)—L RES
slzl 7| TavysLHy— it 3 f;ﬁ;k 1(:13/52.>4 1-1-2-3 | 43.2| — 7 <4+429) ;Q%g (£3R)
LY IRG4 752 B:TUFsOvH— wEit ik
N BEECERIY G i 3 %%%? (11:315/.27) 8-8-8-8 |42.4| — 6 456 ’é“(g;’rﬂjl;ﬁ;gﬁ
RNLS - BT L— hE—L #9) | 55 feagss
5 g|d—d—FHv~ >3 ?E_E%%E 1(:3.:3/%8 9-9-9-9 [40.9| — | 1 | 489 ‘.:%(Eg’ﬁi uﬁg)
RFANTTTRE BiZa-RE— #3) | nlptiss
3 | AR 1:35.9 6-5-4-5 |43.3| — 4 478 | HIBBLE (£IR)
] + PR " 56.0 (172) (g |HE#
L:Tw TRy b BELY T —hR Sl 2
1 s I EERYE # 3 gﬁ%gki’rh 1(:13/62.>0 6-7-6-6 |43.4| — | 9 | 42 ?(ﬁ%ﬂf%% P(ﬁ;);%ﬁ
LiRLS R REE BiAIETULER 1| gz =masss
i S # 3 | BRAA 1:37.0 1-1-3-2 | 44.8| — 3 398 | RMEE (£R)
N - BERAYZ 54.0 & oy |£BwE
R AT hA—"F7—RKR—FK B:w14y>7hHxC0 AriE e ]
ol1]1|avzezri—sn >3 E%_E(ﬂ)%‘a 1:(337).7 1-1-7-7 [ 45.0| — 8 | 480 E(E;?ﬂjﬂ/(%?l\ .
Lid—RT7Y2— B:AsYeOq > St Phsigp
® I—F—@EBIERL
|S=7r= (1,3,7),9,5,(4,6),2,8
23=7r= (1,3,7),9,4,5,6,2,8
J=7r= 9,7,3,(4,5),6,1,2,8
41—F— 9,3,7,5,4,6,1,2,8
[ RN
B 9 320M 74K 5-9 5004 & 5-8 730M &R 5-7-9 10,050
# B 9 160 7-9 1,130 B 8-5 1,150M EE 9-5-7 37,840
5 240/ 5-7 2,210/ B = 5-9 2,000M
7 560/ BB 9-5 3,040

ABICOVWTRDTEEERROODE. TR LIV,




